e

B2 S RERY 110 8 & B Ik

GEEY B AF
2B PR

Bl E A B AL A
2 ARREMALF S O HEEIF VG BEL G FY B LB LY
3 nAFIIRAGRAL Y JRMAORER 0 BB S A  B AR BN 4

=~ LL%"F_‘%IJ . )I‘_E.

m

R RR

EBPR% - Lo

LLE&HT R & 2. 8T RENHR 3. FRBS D FARGE
LY A NARAR . & pR L 6. * Biki

R P

(1) EEseFEe  a EE2FETRFRAE- R

].N

b. Ak RE 4 B PFTE2ITEI ENY
(2) R RIE: 278 1-TP - 23872 £4F > 8. i MUBRALITH - » 2 BB LFLY

o [2R%E]

LE4REGEF | 2.88T% | 3 B/ 2ERT 4. iF 5% T 5. R & >
A EGE S TS s AR
8. it B Rk
6. BB &K 7. 2Z B FHOFF s 2 EE(F Y F)
(F3RHEHE-)
BRY(ZERpBEH) - F FUEHH

-4

SRS R

ﬁ\u%ﬁ@:
2102 29 p (B ¥ )o

= NI
N \;I_$ A ﬁ
1~ BRTES

% Pl ARG F A R B INAd EFIRBT AR FRFE
(D) a3 LG RE LT REE - FBRE FHRTLA
(2) REGELHFABFRLLALT FALEFERT L GFE AT L g o
(3)§wi%?gﬁﬁxo
~Adp &R 1 60% (M F 40% ~ AR 20%)

2~ p i m B 1 40% (T4 209% ~ £1R 10% ~ FERE 10%)

TpA=T 10 26 p (EHI) ko

Dl Bk E LILEEFEEEL ) AR

Dl EEBPE - Lo aEd ke 3R

2 BB TR S e X (FEFEIERAFRBER LA -F 25T &)

'L‘ﬂ\fﬁ':/*f:”]‘&{’fzﬂ '?%7’—?—!@.&7?‘}1?'"

APEA

Bira = £



La = BERY 1108 #5058 kz F 50 4
dp TIA L 60% poiTim s IRAe 1 40%
FT % " RIR 2 e BIRE R 7 &
%5 H TS SUNEEES ) #ar
(40+5) (2045) ¥
(2045) (1045) (1045)

01

3%

02

=3

1~ 32010 0 29 p3ma »
EAE LRE L

eP e o

BRI EaKT
CEBEREEC BT
- BB BB o
3 E A A
- HEEm o o

03

*3F

04

*3F

=T )\
7

ok

FF

e




